Worksheet 2: Multiple Choice

Study the questions below and select the correct answer from the four possible
answers given.
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1. Overtime is an example of:

Regular income Irregular income

Benefit in kind Bonus

2. Child Benefit is an example of:

Regular income Irregular income

Benefit in kind Government grant

3. Your employer paying for your gym membership is an example of:

Regular income Irregular income

Benefit in kind Pension

4. Which one of the following has the least risk attached?

Buying shares Gambling

Borrowing money Saving money in a bank

5. Jobseeker’s Benefit is an example of:

Regular income Irregular income

Benefit in kind Wages
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